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EXERCISE 8D.1 NN

1 acosf=+L b ocosh=222 ¢ cosf=+1
d cosf=0

2 asinf=+  bsin6=+X ¢ sin6=0
d sinf =1

3 asind=2% b cosh=—¥2

a

sinf = —

12





image8.png
EXERCISE 8D.2

1 a 0~ 133 or 4.47 b 00592 or 5.69
¢ 020644 or 2.50 do=% or &
e 0~ 0876 or 402 f 00674 or 5.61
g 6~0.0910 or 3.05 h 6~ 152 or 466
i 0~ 135 or 1.79

2 a 0~ 182 or 4.46 0=0or 7

.58 or 5.85
6~ 1.69 or 4.59
6~ 219 or 4.10

6~ 1.72 or 4.86
6~ 1.99 or 5.13
6~ 3.83 or 5.60

b

6~ 1.88 or 5.02 d o~
f
h
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3. sin120° =

cos(—45°) = 7‘; sin(—45°

0s120° =

©€0s90° =0, sin90° =1

2, tan120° = —V/3
= 2. tan(—45°) = -1
b tan90° is undefined
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2 bl 3 di e-L f1
V2 oohd i3 i2 k-1 1 -3
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EXERCISE F
1 ay=+3z by=z cy:—7‘5z
2 ay=v3z+2 by=—V3 cy:%z‘—Z
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= [ ¢ 5= d 3

z b 15° ¢ 840

0.358 b 0035 ¢ 0259 d —0.731

1,0 b 1,0

sin (%) =42, cos (%) =4, tan () =—VB
%) §otan (%) =3

8 b0 <3
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REVIEW SET 88 I

1

© ® N o

a (0.766, —0.643) b (—0.956,0.292)

a 1.239° b 2175° ¢ —2.478°

a 171.89° b 83.65° € 24920 d —302.01°
111 cm?

M(cos 73°, sin 73°) ~ (0.202, 0.956)
N(cos 190°, sin 190°) & (—0.985, —0.174)
P(cos307°, sin 307°) ~ (0.602, —0.799)

~ 103°

a 150°, 210° b 45° 135° © 120°, 300°
_ _ oz 2m an 5x

ab=m b o= 2 4 o

a 133° b Lz © 174°

15
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10 perimeter &~ 34.1 cm, area & 66.5 cm?
11 r~8.79cm, area ~ 81.0 cm?

12 a 0~ 0.841 or 5.44 b 6 ~3.39 or 6.03
¢ 0~ 125 or 4.39
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REVIEW SET 8¢ I

1 aTe b 225° € 140° d 330°
2 u 3 a0,-1
b 0,-1
z
4 asin(r—p)=m b sin(p+27) =m
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EXERCISE 8B I

1 a i495cm i 223cm® b i 230cm i 56.8cm?
2 a314m b 930m?> 3 a59lem b 189cm
4 a 0.686° b 0.6°

5 a 0.75°24em? b 1.68°,2lcm? ¢ 2.32¢ 126.8 cm?
6 10 cm, 25 cm?

8 all7em b 117 ¢ 37.7cm  d 3.23°

9 a a~1843 b f~143.1 ¢ 387 m?
0259em 11 b 2h24min 12 227 m?
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EXERCISE A NN

1 a8z d
ane )
f i
me
K Iz n
2 a 0641° d 383 e 6.92°
3 a 36 d10° e 20°
f 1400 2100 ] 225°
4 a 11459° b 87.66° ¢ 49.68°  d 182.14°
e 301.78°
5 a [Degrees] 0 [ 45 [ 90 [135]180]225[270] 315360
Radians| 0| 5 | 3 |5 | = | 2|5 | & |2n
b [Deg [0[30]60[90] 120[150[180]210]240]270[ 300] 330 [360
REERE Tz | ax |3z | 5z |11z
R o e e el el Bl Bl el el B i
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EXERCISE 8C IENEEEGEG—
1 a i A(cos26°,sin26°), B(cos146°, sin146°),
C(cos 199°, sin 199°)
. 0.438), B(—0.829, 0.559),
6, —0.326)
b i A(cos123°, sin123°), B(cos251°, sin 251°),
C(cos(—35°), sin(—35°))
A(—0.545, 0.839), B(—0.326, —0.946),
C(0.819, —0.574)

2 6 (degrees) | 0° | 90° | 180° | 270° | 360° | 450°
; z = 3
Oadans) [0 2 [« [ Z [ 2n [ Z
sine 0 1 0 -1 0 1
cosine 1 0 -1 0 1 0
tangent 0 | undef 0 undef 0 undef
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IﬁN0.707

6 (degrees) [ 3

0 (radians)

sine

cosine

Sk o | o |on | €

tangent

i 0985
v 0.5

0.707 0.707

b sin(180° — §) =sinf as the points have the same

d

y~oordinate
i 135°

129° z v 3z





image5.png
5 a 10342 i —0.342 —0.5
v 0906 v —0.906 v —0174
b cos(180° — ) = — cos6)
d i 1400 161° - v iz
6 a ~0.6820 b ~0.8572 ¢~ —0.7986
d ~09135 e ~0.9063 £~ —0.6691
7 a
Quadrant|  Pegree Radian 1 059 sin |tan o
measure measure
1 0°0<0<90° [0<O<Z [+ve[+ve|+ve

2 90° <0 <180° [ F<f<m | —ve[+ve|—ve

3 [180° <0< 270°[ 7 <0< 3 | —ve|-ve|+ve

4 [270° <6 <360°[3E < 0 < 27| 4ve | —ve | —ve
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ii 2and 3

AOQ = 180° — 6 or 7 — 0 radians
a reflection of [OP] in the y-axis and so Q has
coordinates (— cos 0, sind).
cos(180° — 0) = —cos0, sin(180° — ) =sing

[0Q] is

o° sinf sin(—0) [ cos® | cos(—6)
0.75 0.682 —0.682 0.732 0.732

1.772 0.980 —0.980 [ —0.200 | —0.200
3.414 —0.269 0.269 —0.963 | —0.963
6.25 —0.0331 [ 0.0331 0.999 0.999
—-117 | —0.921 0.921 0.390 0.390

sin(—6) = —sin6, cos(—6) = cos
i Q has coordinates (cos(—8), sin(—6)) or

(cos6, —sinf) (since

is the reflection of P in the

cos(—0) =cosf and sin(—0) = —sinf.
i cos(2m — 0) = cos(—0) = cosf {from ¢ i}




